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QUESTION 1

While implementing an Alfresco Content Services extension, you find you need to pull information out of a document
and make it available as content properties. What type of component would you develop to perform this task?

A. Content Transformer.
B. Metadata Extractor.
C. Alfresco Action.

D. Metadata Generator.
Correct Answer: B

References: http://docs.alfresco.com/5.2/concepts/dev-repository-concepts.html

QUESTION 2

When would you consider developing your custom server code in Java in place of JavaScript? (Choose three.)
A. When a web script needs to be executed inside a transaction.

B. When | need to execute part of my code as system user.

C. When developing a custom scheduled process.

D. When developing a content rule.

E. When developing a behavior/policy.

Correct Answer: BCD

QUESTION 3

What does the index="100" refer to, in the following example of an action group definition in Share?

A. The fade delay in milliseconds for the action in the user interface.
B. The index id of the icon to be used for the action.

C. The index id of the action item in the data dictionary.

D. The ordering of the items in the action items in the display.
Correct Answer: D

References: https://community.alfresco.com/thread/205462-configure-share-document-library-action-order
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QUESTION 4

What are the variable\\'s scopes available for Activiti workflows?
A. Process instance and task.

B. Node and task.

C. Process instance and form.

D. Process instance and global.

Correct Answer: A

QUESTION 5

Which searches are possible to execute with CMIS 1.1 cmis:item support on Alfresco? (Choose two.)
A. select * from cmis:item

B. select * from sys:base

C. select * from rule:rule

D. select * from bpm:package

E. select * from cm:person

Correct Answer: AE

References: https://docs.alfresco.com/5.0/pra/l/concepts/cmis-1.1-item-support.html

QUESTION 6

Alfresco Content Services defines some root objects to use with Web Scripts FreeMarker templates. Which one of the
following objects is NOT a default root object?

A. args

B. user

C. url

D. workflow

Correct Answer: C

QUESTION 7
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Consider a static content model loaded at bootstrap that defines a property called "xyz". The property "xyz" is deleted
from the content model and the Alfresco server is restarted. Which statement is TRUE?

A. The server will refuse to start up and you must review the alfresco.log.

B. There are no effects upon nodes that have the "xyz" property.

C. You can still access values for property "xyz", but it is a residual property.
D. The values for "xyz" disappear as though they never existed.

Correct Answer: C

QUESTION 8

Which one of the following steps is necessary when customizing the "Advanced Search” in Share and adding a date
property to the search form?

A. The date range control needs to be specified in share-config-custom.xml.

B. A Java-backed web script to deal with dates needs to be created and referenced in share-configcustom.xml.
C. Share will automatically provide a date range control for dates.

D. A date range control needs to be created in FreeMarker, then specified in share-config-custom.xml.

Correct Answer: A

QUESTION 9

Which function can be used in the SELECT clause of a CMIS query to return a measure of the relevance of each row, in
numerical format?

A. VALUE()

B. POS()

C. RANKING()
D. SCORE()

Correct Answer: D

QUESTION 10
What does it mean when it is said in Solr indexing that the index is "eventually consistent"?
A. The index will only be consistent after a server restart.

B. The index will become consistent when there are no more transactions to index.
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C. The index becomes consistent once a day when the index job runs.
D. The index can only be consistent when the Lucene index job eventually runs.

Correct Answer: B

QUESTION 11

What is the difference between nodeService and NodeService in Alfresco Content Services?

A. There is no difference, these two beans are identical.

B. The upper case bean is an AOP proxy, and injects auditing, security, and other features into the underlying service.
C. The lower case bean is an AOP proxy, and injects auditing, security, and other features into the underlying service.
D. The NodeService bean does not exist.

Correct Answer: A

QUESTION 12

What are the mandatory components of a non-Java-backed data web script?
A. An XML descriptor only.

B. An XML descriptor, JavaScript controller, and an output template.

C. A JavasScript controller and an output template.

D. An XML descriptor and an output template.

Correct Answer: A

QUESTION 13

Which of the following is NOT an out-of-the-box root scoped object in the Java Script API?
A. space

B. log

C. document D. companyhome

Correct Answer: B

QUESTION 14

Within the web script descriptor file, which tag controls if a dashlet should show up on the user dashboard and/or the
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site dashboard?
A. region
B. family
C. type

D. url

Correct Answer: B

QUESTION 15

Which type of constraint can be used to put a limit on the numeric value that can be stored in a property when designing
a content model?

A. LENGTH

B. REGEX

C. MINMAX

D. LIST

E. MAX

Correct Answer: C

References: https://www.slideshare.net/alfrescoga/elementscreatingcontentmodelspdf (17th slide)
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